@ BLAZING 85  msmwr

PA-650 ON SALE JANUARY 30, 2007 '™

FIND AN "8" SYMBOL 0DDS ARE CONSOLIDATED
P AND WIN WITH PRIZE(S) OF: WIN: 1IN: 0DDS ARE 1 IN:
1 S1x2 $2 20.00
E $2 $2 21.43 $2=10.34
$1x3 $3 50.00
W $1w/RED 8 $3 50.00
| 93 $3 50.00 $3=16.67
g S1x5 $5 300.00
$2 +93 $5 300.00
B SIw/RED8+S$1x2  $5 60.00
0 BEE $5 300.00 $5 = 37.50
] S1x10 $10 300.00
I $2x5 $10 300.00
$2w/RED8+$2x2  $10 150.00
P BRI $10 150.00 $10 = 50
1 22 x10 220 375.00
5x4 20 375.00
E $5 w/RED 8 + $5 $20 375.00
(W $10x2 $20 375.00
Ol  $20 $20 375.00 $20 =75
[ $5x10 $50 1,846.15
S5w/RED8+$5x7  $50 1,846.15
M $10x5 $50 1,904.76
| S10w/RED8+$10x2 $50 1,846.15
950 $50 1,846.15 $50 = 371.52
1 $10x 10 $100 6,000.00
$20 x 5 $100 6,000.00
(B $20 w/RED8+5$20x2 $100 6,000.00
W $50x2 $100 6,000.00
E $100 $100 6,000.00 $100 = 1,200
$50 x 10 $500 60,000.00
(W $100x5 $500 60,000.00
(W $100w/RED8+$100x2 $500 60,000.00
$500 $500 60,000.00 $500 = 15,000
$100 x 10 $1,000 120,000.00
& $1,000 $1,000 120,000.00  $1,000 = 60,000
(N $28,000 $28,000 720,000.00 $28,000 = 720,000
; RED 8 = TRIPLES THE PRIZE SHOWN TO THE RIGHT OF THAT SYMBOL Oy‘ngA'tl '?'?p?iis';fifbim
to availability at the time of purchase.

Benefits Older Pennsylvanians. Every Day.




